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AP Microeconomics

Unit 2: What is Economics?
*Question order is not consistent across assessments.

Lesson 2 – What is Economics? 
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Lesson 3 – Wrap-Up 
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Lesson 4 – What is Economics? Essay Test
Essay Test – Teacher Graded
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+/ Question 1 1 point

The biggest disadvantage in a command economy is:

A, the lack of incentive for individuals.
B. there isnit enough money to go around.
C. it's run by a central planner.

D. there's no government intervention.

OO0 O0OO0®

E. market forces determine production decisions.
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+/ Question 2 1 point

Which of the following would not be studied by a microeconomist?

() A How a rent control law affects a family's choice of where to live
(O B. Afirmis production decisions
(O €. Decisions about how families allocate their budget

/(@ D. The total production in a country

() E. Decisions about how people allocate their time
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+/ Question 3 1 point

True or False: An online auction house is not a market since the buyers and sellers are.

geographically dispersed.

O A Tre
(@) B. False.
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+/ Question 4 1 point

A command economy is synonymous with

A. atraditional economy.

B. a centrally planned economy.

D. a free-market economy.

@)
v®
() c. acapitalist economy.
@)
@)

E. alaissezfaire economy.
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+/ Question 5 1 point

China and Russia are:

(O A capitalist economies.

(O B. command economies.
/(@ c. transitional economies.

(© D. traditional economies,

() E. market economies.
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+/ Question 6 1 point

Which of the following is sometimes considered the fourth factor of production?

/(@ A. Entrepreneurship
() B. Management
(O €. Machinery
() D. Money

(O E Technology
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+/ Question 7 1 point

Free enterprise allows:

(O A individuals in the economy to interact without using money.

() B. companies to enter an industry without paying a fee to the government.
(O c. traditional economies to grow faster than command economies.

(O D. command economies to grow faster than traditional economies.

/(8 E. buyers and sellers to exchange goods in a free market, with price indicating
value.
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+/ Question 8 1 point

True or False: Central planners decide how much of a good will be produced in all

economies.

O A Tre
(@) B. False.
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+/ Question 9 1 point

Which of the following statements is true?

A Ahighly valued good is always more expensive than a lesser valued good.

B. The value of a good may change over time.

D. Highly valued goods are always scarce goods.

E. Rare goods are always scarce goods.

@)
v®
() C. The scarcity of a good is always constant
@)
@)
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+/ Question 10 1 point

Which of the following is an advantage of pure capitalism?

(O A Nocentral authority to protect property rights.

(O B. Public goods (such as national defense) will not be produced

(O C. People with no resources to sell can live in extreme poverty, or starve
/(8 D. Buyers and sellers interact to exchange goods.

(O E. Producers may monopolize markets




image11.png
+/ Question 1 3 points

Which of the following would be the focus of a macroeconomic study?

/(@ A The economy as a whole
(O B. The behavior of a monopolist
(O €. Thecosts of an individual firm
(O D. The behavior of individual consumers

() E. Theeffect of labor unions on wage determination
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When we talk about the slope of a line we mean:

() A. the horizontal change over the vertical change.
O 8. how flatthe line is.

/(@) c. therise over the run.
() D. the run over the rise.

() E. None of the above.
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Which of the following goods are considered scarce in the U.S. economy?

(O A Carsanddirty air

(O B. Manufacturing plants and toxic waste

(O c. Diamonds and landfill deposits
/(@ D. Cars and gasoline products

() E. Foodand garbage
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In economics, whenever price is a variable:

OO0 O®

A

its always on the vertical axis of a graph,

it can be on the horizontal or vertical axis of the graph as long as if's clearly
labeled

its always an independent variable.
its always on the horizontal axis of the graph.

its always a dependent variable.
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+/ Question 5 3 points

Capitalist economies depend on which of the following to allocate resources and
finished goods and services?

/(@ A The price system
(O B. City government
() . Central planning agencies
() D. Government planners

(O E Tradition
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+/ Question 6 3 points ~

Which of the following topics would be classified as part of the field of microeconomics?

/(@ A. Analyzing a firm's use of capital in its production process.
(O B. Analyzing the effect of a capital gains tax cut on the federal budget deficit

() €. Analyzing the effect on the money supply if the Federal Reserve raises the
interest rate.

() D. Analyzing the effect of an Asian currency’s devaluation on the amount of
U.S. imports and exports.

() E. Analyzing the effect of a change in spending on real GDP (Gross Domestic
Product).
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+/ Question 7 3 points

In the factor market, resource owners receive:

() A. interest for their capital and income from their services.
(O B rent for theirland and interest for their capital

(O €. wages for their labor and income from their goods.
(O . income from their goods and services.

/@ E. rent fortheir land, wages for their labor, and interest for their capital.
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+/ Question 8 3 points

Which of the following is not a resource (factor of production)?

() A. Office computers
() B. Agrainsilo
(O C. Skills acquired through on-the-job training

() D. Trees

/(@ E. Theinvisible hand
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+/ Question 9 3 points

Taxes are an example of ____ elements in our economic system.

(O A traditional

(O B. market
V@ c. command

() . Allof the above.

(O E- None of the above.
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+/ Question 10 3 points

Aline that rises as it moves from left to right has a

() A slopethatincreases.
() B. slopeless than 0
/(@ C. slope greater than 0.
(O . slope equal to 0.

() E. slope that decreases
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+/ Question 11 3 points

When two variables move in the same way, their relationship is:

() A indirect

(O B. independent
v @ c. direct

() D. dependent.

O E responsive.
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Which of the following s true?

() A Afree good s scarce.
() B. Something is necessariy scarce if people place value on it

/() C. Something is scarce if the quantity people want exceeds the resources
available to make that amount.

(O D. Something that is rare is necessarily scarce.

(O E Afree good is not valued.
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+/ Question 13 3 points

Which of the following falls into the category of microeconomics?

(O A. Gross National Production

/(@ B. Timber regulations
C. National debt

D. Exports

O O O

E. Inflation
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+/ Question 14 3 points

The factors of production fallinto the following categories:

0000 ®

A. land, labor, capital, and entrepreneurship.
B. land, physical capital, and human skills.
C. physical capital, human capital, money, and land.
D. money, equipment, buildings, and labor.

E. land, labor, and capital
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Which of the following is ot one of the four goals typically pursued by policy makers in
economic systems?

() A stable prices

/@ B. Zeropoverty
(O c. Efficient use of resources
(O . Full employment

(O E. Economic growth
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+/ Question 16 3 points

An economic system is defined as:

(O A the factor market and product market of a society.
() B. theinteraction between buyers and sellers.

(O . the production of goods and services.

(O D. the allocation of income throughout a society.

/@ E. thelaws and institutions through which a society allocates resources to
produce goods and services.
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+/ Question 17 3 points

‘The human resource involved in the production of any good is called:

(O A technology.

O B land

O c. capital
/(@ D. labor.

(O E. management.
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+/ Question 18 3 points

Which factor of production involves human resources performing the function of raising
capital, organizing, managing, and assembling other factors of production, and making
basic business policy decisions?

O A Land

/(@ B. Entrepreneurship

(O ¢ Labor
(O . Physical capital

(O E. Human capital
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+/ Question 19 3 points

Every economy must face three basic questions. Which of the following is nof one of
these questions?

/(@ A Howlong willit take to produce the good or service?
(O B. What goods and services will be produced?
(O €. Who will consume what is produced?
(O D. Howwill the good or service be produced?

() E. None of the above.
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/ Question 20 3 points ~

Money acts as a rationing device for goods in a market economy. This means;

() A. consumers who place the highest value on a good always get the good.
(O B. consumers with the most money always get the good

(O C. the price of a good increases as the resources available to make the good
increase.

/@ D. consumers who are willing and able to pay for a good are usually able to get
the good.

(O E anincrease in the price of a good always means consumers value the good
more,
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Which of the economic systems answers the basic economic questions as follows:

What will be produced? |A: Whatever the buyers want.

How will it be produced? | |A: Using the least-cost production technique

For whom will t be produced? |A: Based on consumers' ability to pay

(O A Command
(@) B. Market

O c. Traditional

(O D. Commercial

() E. Federal
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+/ Question 22 3 points

Traditional economies:

base their economic decisions on the customs or religious practices of
ancestors.

are centrally planned.
are in transition to a more mixed economy.
are prevalent throughout Europe.

are more common now than in the past.
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/ Question 23 3 points ~

Which of the following is not true about markets?

®@ OO0 0O O

A

c.

D.

E

Amarket is where buyers and sellers exchange goods or services for a price
they agree on.

Goods and services are exchanged in the product market.
Amarket doesnt have to be a physical place.
Resources and semi-finished products are exchanged in the factor market

‘The product market is also called the resource market
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Inthe Wealth of Nations, Adam Smith advocated all of the following except.

(O A directing resources to where they produce the greatest benefit for all
(O B. allowing price to direct resources and production.

/(@) c. abolishing laissez-faire policies.
(O D. apure market economy.

() E. unregulated markets.
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/ Question 25 3 points ~

Assume you have created a line graph with the equation /= 8 x H, where /is your income
and His the number of hours you work. What would happen to the graphed line if you got
a raise and made $10 an hour instead of $8?7

(O A. There's not enough information to determine what would happen to the
slope of the line.

() B. The slope of the line would decrease and become less steep.
/(8 C. The slope of the line would increase and become steeper.
(O D The slope of the line would stay the same.

() E. The slope of the line would fluctuate.
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+/ Question 26 3 points

are limited and ___ are unlimited.

The basic assumption in economics is that

() A needs,trade-offs
/(@ B. resources, wants

(O c. incentives, models

(O D. costs, outputs

() E. goods, services
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+/ Question 27 3 points

Which of the following is an example of a command economy element within the U.S.
economy?

(O A Tipping in restaurants.

/(@ B. Rent controls on apartments
(O €. Donations to the Salvation Army
(O D. Laissezfaire economic policy

(O E. Speed limits on roads and highways
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/ Question 28 3 points ~

Which of the following is an economist's definition of economics?

/(@) A. Asocial science that examines human behavior in the face of scarcity.
(O B The study of why people need more resources than are available.

(O C. The study of all business activity in a particular market (the world, nation,
state, and so on)

(O D. The analysis and forecasting of the growth and profit of the different sectors
of the economy, such as the automobile industry, the cattle indusiry, and so.
on

() E. The study of such elements of the economy as stock prices, interest rates,
housing starts, consumer spending, and so on.
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+/ Question 29 3 points

‘The force that Adam Smith felt drove any economic system was:

(O A scarcity.

() B. incentives.

() . ceteris-paribus.
/(@ D. theinvisible hand

() E. entrepreneurship.
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/ Question 30 3 points

Which type of factor s a tractor?

V(@ A capital
(O B. Entrepreneurship
O c. Land
() . Labor

(O E Service
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